OXFIUINR (28) (GS) REib—F AL @®

sneannxal
1 G - THE )

i
101—3 9
1 TR T 2 1
1 (3 CBIUR « K TR (P - Yeridb) 1 I
3 1
2071l i 003
1 1
moE B &
H 7
(RUFBL - 2850 l 2 E 1 l k
=
==
=
102—1 1& 3—106
&
=
=
d 3 ;% 3 |
, M E O A& n A #E A ,
14. o Ry 14.
iz (REAUL - 4L T) 1 3 R ) i
301
401
1 fif (THEW - THERGRN)
103 3
1 X T ® X
14 (MR I - Besk0) l
1 2 W A E M . )
l CAL R ) 1 i
202—3
1 B B E £
1 fif CRTIB L - BRIEFERH)
1
(E= L
1 3 G - 5B 1&
e 108
T = 1
. 1_!.
l (U - ) i
A 3 0 .
11ﬁ (Bl - AR=8 )




FA4MLEFEFFRBRERKE XFIVT VA (2E) REc—FT AV

a XKE # RERTEE ) 5 L 55 EE TR B
101 105
3 2
b| A& BHEF emr-xzam—> 1 B HiE (EER-EEL)| ]
01 203
1 1
c ME B (g5 a3 9 ) BT HER @neasvank
102 1 3 106
d| ¥t UOHO mrr-zexs—3 3 A #ZA (HER-REFE)| |
301]1 | 3302
401
e T k=2 (FRR-FEBRD ) 5 TH BZF (EEA-RBEE)| m
103 107
3 0
f KN #HEk (mar-mxl 2 AR EM  aroaszo)|n
202| |3 3|__lo04
g BE EH&  aiarssexm 1 5 s5F EF (BER-EEE)| o
104 1 3 108
h —% ZEE  sEr-axzs I3 0 g (BHR-x8)|p
No. 1 [ B @H% No. b> 3 B
5 — 11 9 — 11
-9 =+ HOE . 8 — 11
10| KB S| 1|5 — 11| 3|8 BEF S ER 01| FL EZ| 1|13 -1 3 |FE BHE
5 — 11 5 — 11
(ZHR - THED) — (BER - R FHE) ( *E HE-iED ﬁE‘) (FER - FTEHKAM) (8 R - mEE)
n-5 = -
02| #8528  EAE| 2 13 - 11| 3 |HE OB No. ' RB
10 — 12 N e Mm -1
(EHR - AR) 8 — 11 (AR - EELTF) ﬁ{%ﬂ% 10 — 12 .
T — 8 01| A+ BEF|1(3 — 1| 3| TFh KZE
16 — 14 - 7 — 1
103 FiIlh meZ| 3|8 — 11| 1| XKJ #&x -F”-I ui'?' (BRR - KFHE) (FER - FEBAM)
1m -1 12 — 10
(FER - FEBAH) (EER - WHH) . 10 — 12
T3 (FRRCFREA sk @A 1|9 - 1| 3| 2E
3 — 1 7 — 1
0| EE E&£E|1|5 -3 |—k ZE (HER - HELE) (ERR - EEE)
9 — 11 s
(FBR - FREKXK) (BER - BA=g ) 3"3'1 No. ﬁ’lﬁ&ﬂ#
9 — 11 1M1 -8
n-71 -9
105 %LL] E*E 3111 = 9|1 %*ﬁ ;’éﬁ:: IJ-IK 1§ﬁ 201 R+t B&EF 316 —11|&#E VHEO
15 — 13 " -1
(=B8] - &) (EER - B ” (B BR - K FHE) (AR - EAKF)
— (BER-HELE) —
1 -8 9 — 11
16| T SHk| 1|3 — 1|3 |ILXx EAH 02| FIlL WEZE| 3 (11 -9 1|—Fk ZTBE
6 — 11 M —-9
(FNR - EHREX) (BER - MEFE) 313‘[‘_ (FHRR - FRBAM) (AR -BX=ZSH )
7T -1 6 — 11
8 — 11 5 11— 6
oz mz3|nC 8| 2| mx m=m| AN BERF |w|wn =@ 2|y - 03wk @8
12 — 10 1M1 -8
(AT - A E) 11— 5 (K58 - wHBEE) e (ZJ R - %) 7 — 1 (BER - REFE)
=2 (BRI - KRFRE) =1
1 -6 9 — 11
08 FHiE BE|3 (1 - 3|0 FR #H 04| EH B 06 — 11| 3 |FE BE
(R R - =T (EHR - XF) (RHMAF - TMARE) (R R - EEE)




